C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 422+8= 2) 34+7 =
- 1
2.
3.
3 49+6= 4) 83+9= 4.
5.
6.
7.
5 744+7 = 6) 504+6 =
8.
9.
10.
7) 9729 = 8) 525:5=
- 11.
12.
9 48+2= 10) 72+2 =
11) 211+8= 12) 457+2 =
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Dividing Whole Numbers

Name:

Answer Key

Solve each problem.

1) 422+8= 5216
3 49+6= 8r1
5 744+7=_106r2
) 972+9=_108
9) 48:2= 24
11) 211+8= 2613

2)

4)

6)

8)

10)

12)

34:7= 416
83:9= 912
504+6= 84
525:5= 105
72:2= 36
457+2= 228711

Answers

1 9216
2 4r6
3 8rl
4, 9r2
5, 106 r2
6. 84

7. 108
8 105
9 24
10. 36
1. 2613
12. 228711l
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